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 ������	
���
������������������������������
������������������	� 
���!
���
"�#��      
�$
%����&�����&�%'��
�	��($�)
���*��+���
��,
����-
.
����
�$
%�� !
./0
������)�� ���
�
	
����)�� .��
*� ,$������1 ��2���	
���3�����������$
���)
���/� ��
����� �����
 ��4��� 
	
�������������������� #2��	�&���-
)�����)
�� 5 1 � ��
�0 
 2.1 �$
%�� 
 2.2 ����"��� �$
%��9 ���:�����,�!
����,� (Incineration) 
 2.3 �����������������4���)�94����� 
 2.4 ��
������������������ 
 
2.1 ������ 

 2.1.1 �	��������������� 

 ���.����H��II�����:��J�*� ..�. 2535 1 �!)�4"��"��� 4����&� L�$
%��M )���(2�              
������ �� ���,�� �����)�� �����
4�� (*�.
����� +�H
����!�&��)�� �(�� �$
%��)�/�#������� 
����
� (2������/�
! #2����3���� ���(

 �
�  ����
�0�������)�/�����/�
 
 9 �����1�4"��&� L�$
%��M ����4���)���4���4
*���������� #2��������(2��������)�/�
��� *�)
/�!H���������������
*���)�/������
���,
�����������������	
��*���)���� 
�H&
 �$
%��H*�H
 �$
%��)�/�����������9����
�*���)���� �$
%���� �H/0� ��-
��
 
 
 2.1.2 ��������������� 

 .����
J� .�
:*�	
&
 (2547) 1 �	�&�����+�����$
%��H
� �&��5 ��-
 3 ����+� 4/�      
�$
%������&���
��1 ��&�� �$
%������&���
��1 ����	
��$
%����
���� 9 ������
�����  ��
�0 
 1) �$
%���&���
��1 ��&�� )�/�����������
9 �����1��&� �$
%����O�� #2����4���H/0
�$�     
�
&���PQ��1 ��&��	
��&��
��
�)�3
��3� �H&
 �����)�� ���./H,�� ��
/��,
1�� ��-
��
 
 2) �$
%������&���
��1 ���� )�/�����������
�&� �$
%��	)�� #2���
&���PQ�����)�/����1�&  
�
&���PQ�� �H&
 �� 	��� ����R��9
)� ���,�� ���1�� ��� ��-
��
 ��&��1��3����$
%������+�
�0
�����(�
/��	
�
"��
����!H����9�H
�1 �9 ����4� 	���&�
��0� 
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 3) ���	
�
�
���� ������ ���	
������������� ������� !" ����#$���	
�%�����
 ��&�����
���'()
*��+
�+,-

 �'�
 ���
�./�� �&���
������
�0���1'����� 2�
��+��(�
��3�  ��4+5
$��6��
���$��4+5
$��+��0 ��
�%
�7"�8������ �+,-


)8���(
�
)8�2

$9
$:��+;�� �9<�/���� ��:�����      
�+=
��
 ���	
��2���
�)��
$�����&����8�%�������!>� !�7" �'�
 �:���������:�
�?23��!��$ 2�(
���1'�
��������8���� 
 
 2.1.3 ���	
����
�������
��
�����
� 

 
�!7���!@ �
$�9�����0��4�?4 (2541) ��������������"?49
$���	
�������%8��
����
�+=
���"?4��$���3�  ���"?4��$���� ��4���"?4��$'��3�  *�����"?49
$���	
����
!��
�8�����!����420� (�
1'��+=
9�
���1
�����$�:
 ������ 
 
 1) 
�������
���������� (Physical characteristics)  

  (1) 
$�0+�4�
&��$���
���3�  
!��%8��
����'
!�9
$�!�$9
$���$E ���
+�4�
&��
9#)
���+=
���	
���)$2�� *���&�$�+=
���	
���� �:��2�����  �'�
 ��4��" :��            
�7"
�2�� 2F�� ���  ����!� ��$ ��4���	
�����:��2�������� �'�
 *�24 ���� ��4�&()
$ 
!G 2!
 
���� ��4
(�
E 
$�0+�4�
&�2���
�)
�%����&�$*��������
 *��
)8�2
��2�(
*��+�!�����<��� ���
���
12F��������
!���&�$���������
*��
)8�2
���������  
  (2) ����2
��
�
 ��������������
2
#�$2
���+�!����9
$���	
� �&�$����+=

����2
��
�
+��! (Bulk density) �(
����2
��
�
+��!*����������
��2�(
&�&���	
�12�:!��+
%��>����� ��4����2
��
�
1
9?49
��$ (Transported density) �(
����2
��
�
9
$       
���	
�1
���
�0��<&9
1
9?49
��$ X#�$+��!����%4�8�12��
�
9#)
 �
(�
$%��������
�4��(

��4
���
��9
$ 
��$�
��<&9
���	
� 
 
 2) ���	
����*��+�
�����
� (Chemical characteristics) 

  (1) ����'()
 (Moisture content) 2����#$+�!��?
)8������
���1
���	
� *�������+
+�!��?
)8������
���1
���	
�����)$
)8����
���3��1
���9
$���	
��
$ �'�
 
)8����
���1
�7"
�2�� ��4
)8�
����!�
���3��

� �'�
 
)8�	
 
  (2) +�!��?9
$�9<$��� (Total solids) 2����#$+�!��?���	
��2�$����2�(

3��2��$%��
8�
)8�

��+2������ 
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  (3) +�!��?�������:��2����� (Volatile solids) 2����#$���
9
$���	
����������
�!��.2�(
�:��2�����������

��$12�2���+ *���+�$�3� �+=
�\�X���0&

��

��X�0 (CO2) 
��4�

)8� 
  (4) +�!��?���� (Ash) 2����#$���9
$���	
�����2�(
%������:��2�� 
  (5) ���������

 (Calorific value) 2����#$+�!��?������

������%������:��2��      
���	
� 
  (6) 
$�0+�4�
&��$���
���� (Chemical composition) ������ +�!��?���
�
*���%
 (Nitrogen: N) .
�.
��� (Phosphorus: P) *+����X��� (Potassium: K) ���0&

 
(Carbon: C) ��4�k*���%
 (Hydrogen: H) �+=
��
 
  (7) �����������+=
 !" �'�
 *�242
�����$ E X#�$%41'��+=
9�
���1
���+�4��!

9
&�9���4������
��$9
$3��4���+
�+,-

9
$9
$��������+=
 !"��
�!�$�����
�  
 
 2.1.4 /0�1���
�����
��
�*�2���1��/�������*�2���*�3
�����4� 

 �8�
��$�
�!�$�����
�3����� 16 (2548) ������+���
���?0���%��������	
�9
$��7&��

���$9�� &��� '��'
�����+�!��?���	
���$��� �(
��7&��
��2��12F� �
$�$�� �(
��7&��

���$9�� ���
����8�%�� ��������7&��%4�����
����8�%���+=
9
$�
�
$ �����$��+oF2�1
��(�
$
����8�%�����������2�����9�3!&�� *��9?4
�)��� ��$ 4 �2�$ ����������
����$�4&&�8�%��������2���
��9�3!&�� �(
���
����8�%�����	
��&&���2�����9�3!&��9
$��7&��
���$9�� ���
����8�%�� 
���	
��&&���2�����9�3!&��9
$��7&��
��2��12F� ���
����8�%�����	
��&&���2���
��9�3!&��9
$��7&����(
$&��
 ����4���
����8�%�����	
��&&���2�����9�3!&��9
$��7&��
�8�&��4���  
 ��������
����9
$+�4'�'
1
�����+�!��?���	
� ������%4*�����:�!����	
�12�

�
��$2�(
������������	
�� (�

8��+1'�+�4*�'
012�� ��$��

9��$��%8���� +�4�!�>!3� 1
���
%����<&���>����
������
���12�&�!���%��������	
�9
$��
$�!�
��

9��$��8� ��4���������%����<&
������������(

��������&&�!��� 
 %��9�
���9
$�8�
��$�
�!�$�����
�3����� 16  &��� +�!��?���	
�9
$��7&������2�$
1
%�$2����$9�� 1
+p .7.2548 ��+�4��? 475.93 ��
��
��
 �!��+=

���������!����	
�  1.22 
��.��
�
��
��
 ���"?49
$���	
���$���3� %8��
���� ���$��$3� +�4�
& 2-1 
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�������
�����
� (�5
���67�189�:1��) ;��*�2����4��:<�=1;��:>�7/����

:�� , 3%

��$/2
�$ , 4%

���/1&��� , 6%
2!
/��4�&()
$ , 3% 
(�
E , 8%

*�24 , 4%

���� , 10%  ����!� , 14% ��4��" , 10%

�7"
�2�� , 38%

 
 

3� +�4�
& 2-1 
$�0+�4�
&���	
� (��
��4*��
)8�2
��) %����7&������2�$1
%�$2����$9��  
�����: �8�
��$�
�!�$�����
�3����� 16 (2548) 
   
 
 
 ���
���
���?0���%��������	
�9
$��7&����(
$ ����$ &��� '��'
�����+�!��?���	
�
��$��� �(
 ��7&����(
$ ����$ �
$�$���(
 ��7&���8�&����9�� �����<&��&������	
�� (�

8��+
�8�%�� �8��
!
�������/ �4
$�0��+���
$���
��
$�!�
�4��&��7&������
�)
 ����8�%�� ������
��7&��%4�����
����8�%���+=
9
$�
�
$ �����$��+oF2�1
��(�
$����8�%�����������2�����9�3!&�� 
*��9?4
�)��� ��$ 1 �2�$ ����������
����$�4&&�8�%��������2�����9�3!&�� �(
���
����8�%�����	
�
�&&���2�����9�3!&��9
$��7&����(
$ ����$ 
 %��9�
����8�
��$�
�!�$�����
�3����� 16  &���+�!��?���	
�9
$��7&������2�$1

%�$2��� ����$ 1
+p .7.2548 ��+�4��? 71.35 ��
��
��
 �!��+=

���������!����	
� 1.02 ��.��

�
��
��
 ���"?4���	
���$���3� %8��
���� ���$��$3� +�4�
& 2-2 
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�������
�����
� (�5
���67�189�:1��) ;��*�2����4��:<�=1;��:>�7����4�

�7"
�2�� , 43%

��4��" , 10% ����!� , 10%
���� , 8%

*�24 , 5%

��$/2
�$ , 3%


(�
E , 3%
2!
/��4�&()
$ , 3%

���/1&��� , 14%
:�� , 1%

 
3� +�4�
& 2-2 
$�0+�4�
&���	
� (��
��4*��
)8�2
��) %����7&������2�$1
%�$2��� ����$  
�����: �8�
��$�
�!�$�����
�3����� 16 (2548) 
 
 
2.2 ����9�;�7����
�67�>?@+���*A�=1*B�*A� (Incineration) 

 ���	
��+=
�!�$9
$����2�(
1'�%���!%�������$E ��4%8��+=
��
$���!>��8�%������2��4��� (�

+w
$��
:���4�&��
�!�$�����
����
�%��!�9#)
 �
(�
$%��
$�0+�4�
&���	
�+�4�
&����

$�0+�4�
&����� ��$$�
����
���1
+�!��?��� ����+���+ ��$$�
�����
���1
���	
�%#$�+=

��$��(
�2
#�$1
����8�%�����	
�����������


�?23��!��$%4��4�8�1
����:������������

��&&
���+=
 !�7"� (�
12��9����&���"?4��&��!9
$���	
� ����:��2��%4��
$�������&��������� (�

+w
$��
���12���!��� !"��4����&��
��
�!�$�����
� (����G ��!������?, 2548) 
  

 2.2.1 
�������
��
�*B�*A� 

 ����8�%�����	
�*��1'�����:� �+=
�!>�����8�%�����	
������+�4�!�>!3� ����!>�2
#�$ 
��������+�!�������	
��$���+�4��?��
��4 80-90 
�7�����"?4��&��!9
$���	
� X#�$
�������!��.3��1
����:�*����
���72�(
�'()
� �!$���!�3��1��
�?23��! ������
����2��4��  
:�������%��+x!�!�!���:��2��%4��!��\�X'
!����$E �

)8� 	�;
��49�)���� 1
����8�%�����	
�*��1'�
����:� (
�!7���!@ �
$�9������4�?4, 2541)  
 *�$����:����	
�*�������+�����
+�4�
&2��� ���$��$3� +�4�
& 2-3  
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�����	
�� 2-3��������������������������������� �
�	�!"##$�   

%&'��: Tchobanoglous et al (1993) 
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 �����	�
	��
�������������������������
�� �����  
  1) �����"������
��� ���#�������$	���%�&������������'	���	�����() ��*� �()��
��������
��������"�+��	��$���	��,���+$	�����	�
	 &�	�-.+���$����+�	�&�	�-.�� �#�� 1.5 ���	
+������*�0*1	(2��	��
	��
���#��
����+3 ��� 
  2) �����,����
��� ��%��&�)���-����
�'	��$	����,����
����+$	��2���	�
	 
+�	�2�5� ����������
��� -�26$�����&��#
��$	����,���+$	������������
���  
  3) ��	�
	 ��%�+� ���������
���8���
	���$2��$�� ����	�&��&.��	�	9��)�
�6) ��(
*�6���2��	��
	���$�����:; ��	�
	���
	����#��+3 ��������+�	�#
��	�26$�	���	 �����  
   3.1) ��	�
	6�*���#
������� (Stoker-Fired Incinerator) #
��������'	
��$	���2��	��,����
���1	�2���	�
	 �*0��	��
	26$�	�	9�	���*�(� #
��	-26$� '	����6) ��(
*�
���*�2��	��
	���$�$�� �.:�1��*2���	����	: 850-1,200 ��9	�N
�N��� ���	��������*�	:
��
����������*�	:�	� &)� 150 ��������� #������1	(������ 2-4 
 

 
 

1	(������ 2-4 ��	�
	6�*���#
������� (Stoker-Fired Incinerator) 
����	: Brunner (1996) 
 
   3.2) ��	�
	6�*�&��&.��	����$ (Paralytic Incinerator) #����	��
	���$
��%� 2 +� ���� +� �#��-�&��&.��	��
	���$2��1	����$�	�	9 ����.:�1��*����	: 450 ��9	
�N
�N��� #
�2�+� ��.��$	�-���%��	��
	���$2��1	���	�	9�	���*�(� #
��	-26$� '	���
�6) ��(
*��$�� �.:�1��*2���	����	: 1,000-1,200 ��9	�N
�N��� ���	��������
����������*�	:
�$�� 10 ��������� #������1	(������ 2-5 
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1	(������ 2-5 ��	�
	6�*�&��&.��	��
	���$ (Paralytic Incinerator) 
����	: Tillman (1986)  
 
   3.3) ��	�
	���$6�*�26$����
	��'	&�	��$�� (Fluidized Bed Incinerator) 
����
	����26$2��	��
	 ��%�#��&���N;��)���	�#��� '	+�	�����	: 1 �*

*���� ��
���-��$��
8������2�$��+�	��
"�
� ����
	�#
���
���-�8�����
�����2���	 #
��
	���$���26$�	�	9
�	���*�(� -���$�.:�1��*����	: 850-1,200 ��9	�N
�N��� ���	��������*�	:��
��� 25-100 
��������� #������1	(������ 2-6 

 
 

 
 

1	(������ 2-6 ��	�
	���$6�*�26$����
	��'	&�	��$�� (Fluidized Bed Incinerator) 
����	: Brunner (1996)   
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  4) �����	��'	��������"�
�#
��	��'	&�	��$����26$�����6�; ������-	�  
�	��
	���$��
���-����.:�1��*����	: 700-950 ��9	�N
�N��� �������
�	�����������'	-��    
������ -��$���'	2�$��"�
����83� 250-300 ��9	�N
�N��� ����	-26$�*0��	�(��� '	��������������
������#
�� '	-�������	��� ��)��*��� ���$��$�� '	����	��'	&�	��$��-	����������'	2�$       
� '	�$�� #
$��'	��� '	�$���� ����.���������� '	����()��

*����#��\\,	 
  5)  �����'	-�������� ���������
��.:�1��*��'	
�#
$�-��$��8���'	-���	��
(*]  
��	�^ ����������-����	�-	��
����������	�	9 �
�	������*�-	��	��
	���$ ��$#�� 
��._�      
�`	N�a����-�&
����; �`	N������-�����N�; ��%��$� �.���:;����'	-����$#�� �N�&
� (Cyclone)   
8.����� (Bag house filter), Electrostatic precipitator (EP), Wet or dry scrubber �.���:;���26$�'	-��
�`	N����2�5�-�26$������k����������+	�(���+$	��-���	��
(*]������ 
  6) �	��'	-���8$	 �8$	�����*�-	��	��
	��
����� 2 ����1� &)� �8$	�*� ���-	�
�����(�$����������� �(�	���+�	��
"�#
���	 �'	-������.���:;�'	-���._�#
���"���������$��
�'	-������� �����8$	����-���
)���������$���	8��
'	�
���#
�(��� '	�()��2�$��"�
�#
���������$2�
�����"��8$	 
  7) �	��'	-��� '	���� � '	���������*�2�����	���	�
	 -���*�-	��	�
$	�() � � '	6�   
��
��� �����'	-���8$	 � '	��.������2������'	-�������� ��%��$� �*0��'	-��� '	��������2�5�26$�*0�
�'	-���	��&�� ��$#�� �	�����*� #
��	���$	������ � '	����'	���#
$�����'	�
����26$2�����	�
��� 2������	��'	2�$��������"�
���)�+����	��'	-���8$	 ��%��$� 
 
 
 ��	�
	��
����� �  3 #�� �����#���	��'	�	����������)����� ����� �+$����� +$��$��2�
�	�26$�	�#
��	&	+����	�
	 -3���$#���+$������������2��	�26$�	���	�
	6�*���	�^             
���#���2��	�	� 2-1 #
�+$��� +$�����+���	��'	-����
���#����	�
	 ���#���2��	�	� 2-2 
�()��2�$�	�	�8&���
)����	�
	��26$�	���$���	����	��� 
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�	�	� 2-1 +$�������������	�26$�	���	�
	6�*���	�^ 
��������� ��	
����
 ������
-��������
��	�����
 

1. Pyrolysis 

+�	��
"� 10 ���/���   
 

2 +� ���� &)���$�	�	9����	�	9
�	���*�(�                                        

1. �	�	�8�,����
�����$������ 
2. ��*��&�)�����$ 8 6�./��� 
3. ��������6) ��(
*� �(�	�26$�6) ��(
*��$��                                                                                                       
4. ���	�	9������*�	:�$���(�	�26$�	�	9�
	���$�$�� 
5. ���	�����	��
	��
�����*�	:�$��                                                           

2. Fluidized Bed 
Incinerator     

+�	� 20-150 ���/���                        

26$����
	��'	&�	��$��    
#
��	�	9�	���*�(�                       

1. ��
����$��8������2�$��+�	��
"������,���+$	��	�
	 
2. ��
����	�6�*��������	�����	�	�8�'	�+$	��	�
	 
3. &�	�'	��*��	���� �(�	��$��������
��� 
4.�	�	�8��*��&�)����
�� 24 6�. 
5. ��*��	�	9������*�	:�	� �(�	�26$�	�	9�	� 

3.Stoker-Fired 

   +�	�2�5����	 
     150 ���/��� 
 
 

26$�	�	9�	���*�(� 1. �,����
����.�+�	���$������  
2. ��*��&�)��������)�����$�
�� 24 6�. 
3. ��*�	:�	�	9�����	� �(�	�26$�	�	9�	���*�(�  
4. ���	��'	������
�����*�	:�	� 
5. &�	��$�������$�'	��

*���� '	�$��#
��\\,	 

����	: ���&��&.��
(*] (2549) 
 
 
�	�	� 2-2 +$���#
�+$�����+���*0��
	2���	  

����. ����/.� 

- 26$() �����$�� ��)�����������*0��	��m��
���
���  
- �'	-����
�����$��)���.�6�*� #
�+� �8$	�����
)�-	� 
  �	��
	���$��������m5�	2��	��'	-��+� ������  
- �	�	�8�����$	���	�
	��$2�
$�&������#�
���'	��*� 
   ��
�����$�'	2�$�������&�	+����  
- �	�	�8�'	(
���	�&�	��$���	26$�����6�;��$ �6��     
  �'	�	

*����#��\\,	 

- &�	
��.��	������$	�����	� ����n(	���	�
	+�	�2�5�  
- &�	26$-�	�2��	�N���#N��'	�.����]	&���+$	���� ����� ��� 
  &�	��$����� -3��'	2�$��*��	��3������	�  
- ��	�
	+�	��
"����(��m5�	����������
*��#
�&��������*� 
   -	��	��
	���$  
- �	��*��� ��.���:;&��&.��
(*]-	��	��
	��
��� -��'	 
  2�$��&�	26$-�	���� 

����	: ���&��&.��
(*] (2549)  
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 2.2.2 /�	12345
.6��4�7����	���891�7��������1:2;�� 

 ��	�.0 ��)��� (2542) ��$�
�	�83��	��
(*]�	��	�	9-	��	��
	���$��	+3 ��������
��&;��������
�����%�����2�5�#
�(*-	�:	6�*���	�
	��%�������� �	��
(*]�����*�+3 � ��$#�� 
  1) �._� ��*�	:�._������*�+3 ����������&;��������
��� 6�*�+����	#
�
��]:�
�	�26$�	� �6�� ��������	�	9����,���+$	�� �._������	��"&)��	���*�����;�������
	���$2���	�
	 
+�	�+���._������	�o���� �#����'	���	 1 ��&���-���83��
	��$����&���   
  2) �
�� ��%���&;�������	�6�*�2���
��� �6�� ����	] ��(*�(; �
�� ���-�
����.1	&�
"�^ ���	����._� �
�����(� �6�� �	N��*& (As) #&������ (Cd) �&������ (Cr) ������ 
(Pb) �
���	�6�*����	�����	2��1	(�� �6�� ��+������ (Hg) �����������)��
�	�����
�'	����._�#
$� �	����	 98% +���
�� -�8���'	������-	��	�	9������	�����	��
��� ����$�
���������%��� 
  3) �`	N�����s�0*t��%���� �`	N�����s�0*t��%���� 2 6�*�����'	&�5 &)� �a����-�    
&
����; (HCl) #
�N�
�\��;������N�; (SO2) #�����`	N�)����� 2-3 6�*����(��������� ��&�	�
�+$�+$���'	���	 &)� �a����-�\
������; (HF) �a����-����-���; (HBr) #
�N�
�\��;�������N�; 
(SO3) ��*�	:+�� HCl #
� SO2 +3 ����������&;��������
��� N3��&)�&
���������	�o2�����	] 
(
	��*� #
�N�
�\��;��	�o2�����.�
	�6�*� �6�� #
���*�N��� ����.������	�#��\m
&; 
  4) &	�;���������N�; (CO) ��*�-	��	��
	���$�����������:;+��&	�;������
&��-���
��������%�&	�;���������N�;���	������:; ��)���-	��.:�1��*���������(� �	�	9������
�(���(���)�������
	�	��
	���$����� ���*��� ��%���6���'	&�5���6� 83�����*�0*1	(+���	��
	���$
#
�-��(*����)�
��	��	����	��`	N�*�����; 
  5) ����N�;+��������-� NOx ��*�-	��	�����	�������-�#
����N*�-�2�
�	�	91	�2���	�
	#
�-	���&;��������
��� ��)���-	�������-�+����
����	�	�8����	�
��$2��.:�1��*��'	���	 (����	: 1,000 C) +:������*��o*�*�*�	�����	�������-�#
����N*�-�2�
�	�	9�$���	��.:�1��*���������	�� -3�-���*�+3 ������*�	:�	� ^ ����� �2���	�
	��
��� NOx -���*�
-	�������-�2���
�����%�����2�5� 
  6) �`	N�*�����;  ���`	N�*�����;�
	�6�*���� ��*�+3 �2���	�
	 �6�� �����N*� 
(Dioxins) #
��`	N�*�����;�)��^ �6�� &
������N*� �(
*&
�
*��� ������\��*
 &
��
\y��
 
��%��$� N3���� ������%��	��������"� �	����+���`	N-��
�������
	���%��._�#
�8���'	-�����-	�
�����'	��� ��)��(*-	�:	

�����(���	�����N*� ��%��
.���	�����������&�	���%�(*]#
�&�	�
�+$�+$����  
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 2.2.3 ��	�<		:<1:2;��8<�<=
32>���
?@�1	��
 

 �	��'	-����
���#����	�
	2���	������9�*��26$�	� ��)���-	��	�	�8
���*�	:      
��
�����$�	� 26$() �����$�� �	�	�8�'	(
���	�&�	��$�������$26$�����6�;�
	����	� �6�� 
�'	��26$2��	�

*����#��\\,	 ��	�
	��
����	�	�826$�
	��
�����$#���.�6�*� �1	(+��
�*�\,	�	�	9�����%��m5�	2��	��'	-�� �	�	�8����������
	2��	��'	�	���$ ��
���������	���
�'	�����	�-'	�������*0��
	�$����
��]:�����������  &�	�6) ������*� 50%  ���	�����
	���$��$���	�
�$�� 25 % ���	�����
	���$�����$�����*� 60% #
��)��^ 15% ���-	��� -��$�����	����#��
��&���
�����-��,����� &��&.��*2�$�������	��
	���$���.:�1��* &��� �._�
���� ������ z
z 
��*��m5�	�
(*]����*��#��
$������n(	����	��*���
(*]�	��	�	9 �8	�1	(�	�

*�(
���	�
-	���
���2��m--.����	�

*�#
��	�26$(
���	�-	���
���+�������9������������	���� 
��)���-	���+$�-'	����
	����	� �6�� &�	
��.�#
�&�	26$-�	�2��	���*��������	&	#(� &�	&�	��$��
��'	 (���(�{�	(
���	���#��#
���.���];(
���	�, 2548) 
 �'	���������'	-����
���#����	�
	+����9�	
�&�1���"� N3���	�	�8�'	&�	��$�������$
-	��	��
	���$�	26$2��	�

*����#��\\,	 ���26$��	�
	����1������� #���
	���$�����)���  
 �'	
���	��
	 250 ���/��� #������1	(������ 2-7  
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�����	
�� 2-7 ������	
������	�������������������� ���	
�!� (Stoker type) 

,�-��: �,/���������
0� (2548) 
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 �������	
��� 2-7 ���������	���������	
�������� ��	���
������������������
	
�  ������ 

1 "#� 	$��%����&�'��  15 "#� ��)�*����� 
2 "#� +
���,������������&�'�� 16 "#� �"	#������".��	)��/��0,) *����� 
3 "#� �����)����&�'�� 17 "#� �"	#������".����%�2���3�'�� 
4  "#� �3�����&�'�� 18 "#� �"	#����3����&���. 
5 "#� �67�������$3���&�'�� 19 "#� �"	#������' 9�2��$ ��	�� 
6 "#� �	.�	���&�'�� 20 "#� ������&�����; 
7 "#� �"	#����<���&�'�� 21 "#� �"	#����	.�+�����=>�������;2���3���#��� 

8 "#� , �� ��	?@�"�)��&�'��       22 "#� ��3��".�� 
9 "#� �)������&�'�� 23 "#� �"	#����	�������+������&�'��0��3���� 
10 "#� ������������; 24 "#� �"	#���+&������+������&�'�� 
11 "#� �"	#���	��2�
	
����$)� 25 "#� �"	#��������=�*AA<�2��������*����� 
12 "#� �"	#���+3��3���$)�2��+���+
��#�� 26 "#� �"	#������0�)����;��%� 
13 "#� �3�����$)� 27 "#� $��".�2�3� 
14 "#� �67�������$3���$)� 28 "#� �"	#���*�3����; 

 
 

 (1) ����	
����
���
�������
���������
���
���	
 ��	�������&�'��/��0,)��������
����������+��"�B ������ 

1. �3�	���&�'�� (Refuse storage) 
2. 	
���<���&�'�� (Refuse feed system) 
3. ������ (Incineration) 
4. ��	���0�)*��+����%���2�
��	���".��	)��*�0,)�	
/�,�@ 
        (Fuel gas cooling heat recovery) 
5. ��	������*��+�� (Fuel gas treatment) 
6. ��	�������$)� (Residue handling) 
7. ��	�����������+�� (Waste water treatment) 

 
 	$�		� ���%���]���&�'���)������	,������������&�'��/���3��+
���,���

���������&�'�� ��#������^��)��&������������	$�		� ���%������.=������������)����&�'�� ��#��
$3�����&�'��*.)����3�����&�'�� ���67�������$3���&�'��2�
�	.�	���&�'�� �����)����0���	���
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]���&�'���<��*�����"	#����<���&�'�� , �� ��	?@�"�)��&�'�� �����>?
��_�2���
�	��+3�   
]���&�'�����3�����*�����)�������� ��������������;,3.�0���	���*��) ��#��������_�.=`���	  
���*��)0,)����;�����=��� �;>�$)�������*��)*�3���$&�+3��3��������"	#���	��2�
	
����$)�     
+3��3�*�����"	#���+3��3���$)�2��+���+
��#�� 2�
���3�����&�'����#�����*�'6���� �	#����.�+� 0,)
����3�*� /�����67�������$3��0+3	$��%����$)� 2�
0�+3.����	
�����*��+����%���2�
���  
".��	)��*�0,)�	
/�,�@ ��� ��	?@ "#� ��)�*����� �"	#������".��	)��/��*����� �"	#��������=�
*AA<�2�������� *����� ��=�*�)��_��	
2+*AA<�2�
+3.����	
��������*��+�� ��� ��	?@ "#� 
�"	#������".����%�2���3�'�� �"	#����3��&���. �"	#������' 9�2��$ ��	�� ������&�����; /����
�"	#����	.�+�����=>�������;2���3���#��� �3������
��3������;���+&3�		����;������
�����3��".�� 2�
	
�������������+�� ���"	#����	�������+������&�'��0��3����2�
�"	#���+&�     
�����+������&�'�� 
  ����������������0���	�������&�'��/��.=`���	���0������� ��	
���<��     
�&�'��2�
�3�	���&�'��+3���)������� ��	
����	���".��	)��*�0,)�	
/�,�@ /����	��=�
�	
2+*AA<� ��	
��".�" ����=> ������	������*��+��2�
��	�����������+���3��	
���+&3
+=��2.��)�� 0�+3.�����;>�$)�������#������	���*��)����	���*�'6�����	#�+���	$���������
�����_�.�+� 0,)���0��3*�)�).� ]^���������0���	�������&�'��/��.=`���	���0������� 2+��        
�������	
��� 2-8 

 

 

 
����	
��� 2-8 �������0���	�������&�'��/��.=`���	���0������� 
�����: .	�. ` �+#��� (2542)  
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  (2) ��� ���
����	���!"#$$%
 

  ������	�	#��	
�.���	��=����/	�*AA<��������".��	)�� /�����.*�
�	
�.���	��=� �	=�������	���������,#�����=���)�+&3������ ]^��0�����
�����_��,#�����=��&�'�� 
�,#�����=��&�'���
$&����*��) �������".��	)�����*�)�
���*��)����������)��)�*����� (Boiler) 
��������
*�)*����� *��������*�)�
$&�+3�*��� ������� (Turbines) ����"	#��������=�*AA<� 
(Generator) ��#����=��	
2+*AA<� +3.�*�����	)������3���	
�.���	��=��	
2+*AA<�2�). �
$&�
���0�)��%����).��	
�.���	".�2�3��).� Condenser �
*�)��_��������]^���
$&�	.�	.� 2�
+3�
�).��6g����� (Boiler feed pump) *���=�0�)�����)��)�������#��0�)�� ��.���������_�*��3�*� +3.�  
������3���%� (Cooling water) ���0,)0���	".�2�3�2�).��� ?��&�=+&��^�� ��#������*�)	��".��	)�����
$3���������*������
$&����0�)��%���/��0,)����3���%� Cooling tower  	
���".��	)��������
������3���%�+&3����; +3.��������� ?��&�=����2�).�%�
$&������0,)0��3���	
��������3���%� (.=+ �`=i 
+ .		?�?�, 2546) 
 
 2.2.4 �
����	(��))
��
��
���
#*�+����
���,���-.	/
)0 

 +�	�k ��=�+ .		? (2548) ��3�..3� /�����./��2�). �&�'��, �,��.3� 130 �)������3��l  
$&����������0�/	��������&�'�� ]^��������.3� 600 2�3����./�� /��+���	$��������������"#�
������	&��������*AA<�2�
*�������#��0,)0��	
�.���	� �+���		��	#�0�)".��	)�� 	.��������
�;>/��
������#������	���*��)������0,)0��3 ����2�3�l ";.1995 � �+���		���	��=��������
����&�'��*�)��=��".��+���	$0���	�������&�'��, �,��.3� 16 �)����� �6�� ����.3� 35 �	
��; 
*�)����	�������&�'��/�������� ]^��	.��	
��;0�B3m �,3� ��� 2�
�	
��;������%� �,3�      
���	@�=.�� �����������/	��������&�'��+	)��0��3����.����0��	
��;2$����,��  
 ����)�����������	
,�"�� /	� ������.3���	'6�����&�'���
*�3+���	$�����	     
'6�����&�'��+3.�������*��)*�)0�����;.		>��)� ���0�)� �+���		���	��=�����������     
��	����&�'��������.�^�� ��������	
��;0�2$�� /	��������	�=�����/	�����&�'����#����=�������� 
���2+��0���	�� 2-4 2�
��#�����������	=��?�&�'���������	�����#��0�)*�)���������0,)0��30�
B��� 9�������.� 314 ��.�3��	
,��	 0�+=�"/�	@��3���� 252 ��.�3��	
,��	 2�
0�+�	�k���	=��
��3���� 105 ��.�3��	
,��	 �	
��;0��3����	=������	0,)/	�����&�'����#����=��������"#� ��� ]^����
/	��������&�'������.3� 7 2�3� 2�
�����	���	����&�'������.3��l�
 1.6 �)����� 
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��	�� 2-3 ��	��=�������������	����&�'������	
��;�3��m 0�2$�� /	� 

�	
��; 
�	=��?�&�'�� 
(����3��l) 

Kilograms/capita 
Thermal energy 
(gigajoules) 

Electric energy 
(gigajoules) 

��+��	���� 450,000 56 3,053,000 131,000 
�����	@� 2,562,000 477 10,543,000 3,472,000 
'	����;+ 10,984,000 180 32,303,000 2,164,000 
���	��� 12,853,000 157 27,190,000 12,042,000 
r����	� 352,000 6 2,000 399,000 
�=���� 2,169,000 157 3,354,000 2,338,000 
���`�	@2���@ 4,818,000 137 - 9,130,000 
��	@�.�@ 220,000 482 1,409,000 27,000 
/�	� ��� 322,000 49 1,000 558,000 
+��� 1,039,000 26 - 1,934,000 
+.���� 2,005,000 225 22,996,000 4,360,000 
+.=��]�	@2���@ 1,363,000 164 8,698,000 2,311,000 
+�	�k���	=�� 1,074,000 18 1,000 1,895,000 

���-��)"��� 40,484,000 154.5 (Average) 109,550,000 40,761,000 

�����: +�	�k ��=�+ .		? (2548) 
 

2.3 �.�?@.
"	�A�
����B�
�*A�B�)�
� 

 ��	�	
��=��&�"3�+=��2.��)�� ��_���	0,), ��"	#����#��	#���"�="0���	�	
��=��&�"3�
����;	>k;�+�	@���+=�")����������	�"�����2�
*�3��	�"����� *�)2�3 �	�����	`		�,��=
+=��2.��)��2�
�	=��	���*�)	�� (Lipton et al, 1995 �)��$^�0� �+�.���>?@ 	 3��
.���	#��;	�, 2547) 
+���	����� ������)������	�	
��=��&�"3�+=� �2.��)������ ��#������".���+#���/�	����
�	�����	`		�,��=2�
".���+����������=�2�3+=��2.��)����=������	����	�����	`		�,��=2�

+=��2.��)��*�3*�)$&��	
��=�"3���3��$&��)��0���	�������_�+=�")�2�
�	=��	2�3+��"� ]^���� 
+���� ��̂���������*������)����. ������� �6B��+��"�B�%"#��)��������	
� �)�� ��	#�
���	
/�,�@�����	0,)�	�����	+=��2.��)�����*�3��	�"��	#���	�"������.3�".����_��	=�����    
2�
�	
��=��������_��&�"3���.��=�0�)*�) (Norgaard and Howarth, 1995 �)��$^�0� �+�.���>?@  
	 3��
.���	#��;	�, 2547) 
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 ��	�	
��=��&�"3�����;	>k;�+�	@  (Economic evaluation) ��_���	�	
��=�
" ?�	
/�,�@����	�����	������3�+��"�]^����_��&)*�)	���	
/�,�@��������	�2�
����)�� +3.���	
.=�"	�
�@/"	���	����)���;	>k;�+�	@ (Economic analysis) ����2���3�������	.=�"	�
�@
/"	���	����)����	��=� (Financial analysis) ���� 3�+�0������2�������	��� � �	#����*	2�

���� ����/"	���	 ��	.=�"	�
�@����)����	��=����/"	���	����
�����.�)������)�� � 	��*�) 
2�
     ��	�3��0�	����	����)����	��=��������� /��.�������0�	&�	�"����� /�����=�)��&�
�����_���.��=����3����+���	$��*�)�����	.=�"	�
�@�����	��=�������=`		��� 0�����	��)����	
.=�"	�
�@����)���;	>k;�+�	@�
"���̂�$^��)�� �2�
�����2�����/"	���	������3��;	>k�=�
/��	.� ]^��.�������0�	&�����&�"3�����;	>k;�+�	@ ��	�	
��=�������)������
�	.�+��
���	
�����/"	���	0�� ��)�� 	.�����+=�������=��^�����+=��2.��)���).� (+���������/����2�

2��+=��2.��)��, 2540) 
 �����;	>k;�+�	@�����	.=�"	�
�@/"	���	 �	#���"@�	
��������	.=�"	�
�@/"	���	
����;	>k;�+�	@ "#� �	
2+��=�+�2�
��	"=��� �	
2+��=�+��	
����).� �)�� �2�
	��*�)���
��_���.��=�+� �)�� ���=�+�������� *�)2�3 	���3�������=��^�� .��$ �=� 2	���� ��_��)� +3.�	��*�)
��=�+�����������������=�����������/"	���	 �	
2+��=�+�0����"��
$&�"=�����#��0�)
+
�)��$^��&�"3�����������*�����.�� �������������)��"=����	
��.���������=��^���).� ]^��
����
��_����	
��.�����)���.� (External economies) 2�
���	
��.�����)����	������
�	#��)���� (External diseconomies) ]^����	.=�"	�
�@�)���;	>k�=�����
�	
� ��@0,)���/"	���	
�����"	�k (�	
+=�`=i ���=��;=	=, 2545) 
 ��	.=�"	�
�@����;	>k;�+�	@ ��_�+3.��	
���+��"�B�	
��	��̂��0���	�	
��=�"3�
/"	���	 ��#�������
+���	$�3����*�).3�/"	���	0���".��" )�"3�2�
+�".	���*���� � ��	�

��	�����=����/"	���	�����_��)��0,)�	�����	 ��	�	
��=�"3�/"	���	�
	��	��.3���	���+		
2�
0,)�	�����	��_�*��).�".�����	
+=�`=��� 0���	.=�"	�
�@����;	>k;�+�	@�
0�)
".��+��"�B2�3�����2�� �	#��	
+=�`=�����	��=� �	#�".��+���	$0���	0�)���	
/�,�@
���/"	���	�3�+��"��	#�	
���;	>k�=�/��+3.�	.������	0,)�	�����	�������&3������           
(��=	�,;���=i 	�,��.�;@, 2538) 
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2.3.1 �����
�,���������B/
-
)�.�?@.
"	�A 

 .=`���	�	
��=��&�"3�����;	>k;�+�	@+���	$2�3����*�)��_� 3 2�.��������� (�	#��*	 
/��w>?
, 2540 2�
`��.� �=��@+�.�, 2540) 
 (1) �
�,���������B/
����C+�
B
	�
�-�D���D���+
)!��B/
�C+�/
�-
)	�) (Market value 

approach) ��	�	
��=��&�"3��).�.=`����0,)	�"��������+=�")�2�
�	=��	�������)�� �"3�0,)�3��
�����=��^���	#���/���+�
��=��^����.��"3��	�����	`		�,��=2�
+=��2.��)�� *�)2�3 
 1) ��	.��"3������	�������2���*����".��+���	$0���	��=� (Change in 
productivity approach) /��.���������=�����������2���*� ���������#��������.
2.��)�����
�������*��
�����3���	��=�����0��,=��	=��?����=� " ?���2�
�)�� ���	��=� ���+���	$.��"3�
*�)/���	� 
 2) "3�0,)�3�����0,)0���	�<����� (Preventive expenditure) /��.��"3����"3�0,)�3������3��
��#���<�����*�30�)��=���	�������2��������	����	�����	`		�,��=2�
+=��2.��)����0,) �,3� 
�)�� ���	�����������+���3����3����+&32�3����+�`�	?
 
 3) �)�� �"3��+��/���+ (Opportunity cost) ��_���	���2�."=��	#���"3��+��/���+���
�	�����	`		�,��=2�
+=��2.��)����"���.?.3���	+�.��	�����	`		�,��=2�
+=��2.��)��*.)
0,)�	
/�,�@���0������̂������ �
��"3��+��/���+�����	����	�����	*�0,)�	
/�,�@����#��
��3��*	 �,3� ��	+�.�	��>��#������9����*.)�����"3��+��/���+�����	0,)����=� "3��+��/���+���
��	��%�����9� �3�+��.@ ��_��)� 
 4) �)�� �����3����2��/]3��2]�0�)"#�+��� (Replacement/Restoration cost) ��_�
�)�� ������=������	+	)����2���	���@+=������3�����*�)	��".���+����������	�����" ?������
+=��2.��)������ �)�� ������3�.+���	$�����0,)�	
��=��&�"3�����+ �����	
/�,�@����^��
��=�
���/"	���	0���	�<������	#�0���	�	���	 �+=��2.��)�� 
 5) �)�� ������.�����	��%��9.������=��^����#����.
2.��)���������*� (Cost of illness) 
/��.�����"3�0,)�3�������.���+ ���� ����	��%��9.� ���	���	�+��,�.=��3���.�����= 	��*�)�������
��#������+ ��������3��2� ]^��+���	$+
�)��$^��&�"3�����	�����	�� >�@*�)�).� 
 6) �)�� �����	
��?�����	+���=+$����	?@����
	��>���.
2.��)��*.) (Shadow 
project) .=`����0,)����	?������	������)��+�����/"	���	0���	��{�������=��^�� 2�).�3�0�)��=���	
+&B�+��2�3" ?���+=��2.��)�� /"	���	�����3�.��	����+�#�������	���0�)��+=�")������3�.��=��^��
��2��+=�")�,�=�����.��������=��^�����`		�,��= ]^���)�� ������=��^�������	�����=���������3�.
+���	$���*�0,)��_�"3��	
��?���" ?���+=��2.��)��*�) 
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 (2) �
�,������B/
����
B
	�
�	��!-� (Surrogate market approach) 0�����	?����
*�3���0,)	�"�������������.�)��2�
"3�0,)�3�������=��^��0���	�	
��=�"3��	�����	`		�,��=2�

+=��2.��)�� �	����0,)	�"�������.2����)���,3.�0���	�	
��=�"3� /��	�"�������.2�����0,)
�=���	
��=�"3��3���6������.2���3�� m ������ 
 1) ��	�	
��=��&�"3��	���@+=��	#�����=� (Property or land value approach) ������	
���.*����2�.������"#� 	�"�����&)�	=/�"�3�����*���#��]#�����	���@+=��	#�]#��������=��
+
�)��
$^��&�"3���������������&3����	���@+=��	#�����=����� m /���
+
�)��0�)��%�$^��&�"3��������)��*�)
2�
�&�"3��������)��*�3*�)�	#��&�"3�+=��2.��)��������	#�*�3������	���@+=��	#�����=��).� ���0�)
�&�"3��	���@+=��	#�����=����&�"3����2���3�����*����� m ���/����#��2�)������>?
������������
�	���@+=��
���#����� 
 2) �	
��=����".��2���3�����"3��)�� (Wage differential) ��_���	0,)	�"�"3��)��
�	#���=���#�����2	����*�)	��+
�)��0�)��_�" ?"3����+=��2.��)�������_���&3���+$����������� ]^��
���2�."=��������&3.3����	�"3��)�����+&��3��
+
�)��0�)��%�$^��	?�+���+=��2.��)�����*�3��������
��	������ �̂������_��)������	�3��"3���2���3�+=��2.��)�����*�3��0�	&����"3��)�����+&��^����#����_�
2	��&�0�0���	�������	#�0��	?������+���2.��)�������������	�"3��)������
������ ��#��
��2�����+���2.��)���������&32�). ".��2���3�����"3��)�����"#��&�"3����+=��2.��)��0�
+$�����������/����������,�=�������������#����� 
 3) �	
��=����"3�0,)�3��0���	��=���� (Travel cost method: TCM) ��_���	
�	
� ��@0,)�)�� �"3�0,)�3��0���	��=������_��6������.2��0���	�	
��=�"3�".����0��	#���	
0�)" ?"3��3��	�����	`		�,��=2�
+=��2.��)�� �=��0,)������0��	?�;̂�>������.�����	�3�������.
��������	�	#���	����3����3��0�0��#������3�������.2��3��3�� m  
 4) �	
��=������	+	)��+=�")���.2�� (Proxy goods) ������	"#� ��	�	
��=��&�"3�
/��+���=.3��	�����	`		�,��=2�
+=��2.��)��+���	$����
+	)���^����0��3/���� >�@��#��
��2��+3.����`		�,��=���������*�*�) �)�� �"3�0,)�3��������������=��̂��0���	+	)��+=�")��	#�
/"	���	0� m �^������2���	�����	`		�,��=2�
+=��2.��)��������*��̂��
$#�.3���_�	
���
".����%�0����+��"��
�3��*���#��2������������+����	�����	`		�,��=2�
+=��2.��)�����+��"�
��".���)����	 ]^����������̂������
+
�)��0�)��%�$^��&�"3�����	�����	`		�,��=2�

+=��2.��)�����$&��	
��=�*.)2�)./��+��"� 
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 (3) �
�,������B/
����C+	�
�"��	� (Simulated market approach) ���*�3+���	$
0,)	�"�������������.�)��2�
	�"�������.2��*�)0���	�	
��=�"3��	�����	`		�,��=2�

+=��2.��)�����+���=+$����	?@�^����#����	�"�����)����	 ]^�����*�)������ 
 1) ��	+	)����������� (Artificial market) 0,)�������	�"����".���=�������
�3�� 
(Willingness To Pay: WTP) �	#�".���=�������
	�� (Willingness To Accept: WTA) +���	��+=�")�
�	#��	=��	���*�)����	�����	`		�,��=2�
+=��2.��)�� 
 2) ��	�	
��=�"3�/��0,) Contingent Valuation Method (CVM) �����>?
��_���	
+��$��$^���;�"�=���".���=�������
�3�� (Willingness To Pay: WTP) �	#�".���=�������
	�� 
(Willingness to accept: WTA) ����&)$&�+��$��/��������+$����	?@+���=�	#�+�����	?@���
�=*�)��=��^���	=� 2�).0�)�&)$&�+��$��*�)�����#��2+��".���=�������
�3���	#�".���=�������
	��
���0�)+�����	?@���+���=�^��  
 3) ��	�	
��=�"3�/��0,) Contingent ranking $��/���	=�������	����+�����	?@
+���= (Hypothetical scenarios) 2�).+��$��� ""��3�� m (�&)0�)+����>?@) /����	)��0�)
�	��������������#���3�� m �	)�������=��	#��)�� �����	)���
�3�����2�3�
�����#�� (�,3� +���	��
+$���������3����3��0�2�3�
�����������>?
2�
"3�`		����������3�����) ��	0�)�	���������+���	$
�
�� ����������_��&�"3���_���.��=� ("��$��.3����,�� �A� ����.3� �B� �	#����3�) ���.=,���	
����� 3��&)+���+� ���"�="�����".����%�.3� contingent ranking ����
����
+��.3�.=`� Contingent 
valuation method (+���������/����2�
2��+=��2.��)��, 2540) 
 
 2.3.2 �
����D���
)�����-  

 ���	
��+=��2.��)���3������
���*��	
��=�"3�����)���;	>k�=��
�)���3�����������	
������	�� ��	�
.3����	
�������.����
.�������0��,=�" ?��� 0��?
������	
�������.
����
.�������0��,=��	=��? ���	
�������.".	"�����*� 2�
�=��	?�.3�".	�	#�*�3����
���
���	
�����3�������)����	
��=�������)���;	>k�=� /�����.*���	������	��0,) 4 ������?�@
������ (+���������/����2�
2��+=��2.��)��, 2540)  
 
 �
����D���
)-�D 1 �����- ����#�+�� �
���!� RS
���T *�U
���
	��
� ���-
!�+�

*�U
#�/ 

 �=��	?� 2 �	
��%� �	
��%�2	� ���	
�������3�.$&�	.���&30���	.=�"	�
�@�)��
�;	>k�=�/����_��)�� ��	#����	
/�,�@���0�2�).�	#�*�3 $)�	.���&32�).�
*�3�=��	?���� 
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��	�
��_���	���]��� �	
��%����+�� ���	
������$&����0�)�		������������ (�	#�+3.�0�B3) 
�	#�*�3 $)���������	��	�		���2�). �)�� ������	�		����3��$&�	.�*.)0��)�� ����
/"	���	2�). 

• $)�"����� (0��)�0��)���̂��) "#� �0,3� ����$^� *�3�)���	
��=����	
���	
�������
��_���.��=� 2�3".	�
	
� 	����	���	
������*.)0���	�� �	)��	
� ��� ����3��
,����������	������ 

• $)�"����� "#� �*�3� (�	#�*�32�3���) �
�)��������	���3�*� 
 

 �
����D���
)-�D 2 �����- ��������
� R��V�T (��B�
�*�
��C�)�,��� �-�� ) *�U
#�/ 
 �=��	?�.3����	
������ m ������ ���%�� �	#�*�3 �	#���������%���	�����������
���	
����.�	#����#�� m  

• $)�"����� "#� �0,3� ����".��.3� ���	
������*�3�����+��"�B������� 2�
*�3
�����_��)����"3��������_���.��=� 2�3".	����^�0���	�� �	)���`=������ ��.3����*�
�̂��)��������	
��������� 

• $)�"����� "#� �*�3� (�	#� �*�3��3��2�3����) �
�)��������	����������3�*� 
 

 �
����D���
)-�D 3 �����- ����#�/B/
�!�/�
� *�U

/
�#*�)/
�*�U
#�/ 
 �=��	?�.3���".��*�32�3���+&�0��	#�������������=��	?��	#�*�3  �	#���&30�+��� 
��3��*�.�3���  

• $)�"����� "#� �0,3� ".	�����=���	�	
��=��,=�" ?��� 2�3�������$)����	
� �,=��	=��?
�).� (��3������_�*�*�)) �	)������`=������ ��.3����*�*�3+���	$	
� �,=��	=��?�	#�
.��"3���_���.��=�*�) 

• $)�"����� "#� �*�3� (�	#� �*�32�30��) ".	�����	������	�������3�*� 
 

 �
����D���
)-�D 4 �
�,���������C�),���
W"
�
�X-�
#�+ RB� X+��T *�U
#�/ 
 �=��	?�.3����)��&��	#��3�.+�	�#�������������
������	
��=�*�)����.3���	�	
��=��,=�
" ?��� 

• $)�0,3 (�	#�*�32�30�) ".	�����=���	�	
��=��,=��	=��?�3�*�  
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• $)�*�3 ".	�����	�	
��=��,=�" ?��� �������".		
� ���	
��0��,=��	=��? (��3�����

���*�)) 	
� ��� ����������������������.3����*�*�3+���	$����
	
� ���	
�������
��_��	=��?�	#���=�*�) 

 
 ��	������	�����	
��.������������)���.�2�
�)����/��0,)������?�@��	
������	��������.=�"	�
�@���	
��+=��2.��)�� +���������/����2�
2��+=��2.��)�� 2+��
�������	
��� 2-9 

 

��	��2�� 1 ���	
����%��	#������0�
�	#�$&���0���		����	#�*��

��	��2�� 2
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����	
��� 2-9 ������?�@��	������	�����	
��.���� 
�����: +���������/����2�
2��+=��2.��)�� (2540)  
 
 2.3.3 
�	�
B���� (Discount rate) 

 ���	�"=��� (Discount rate) 0���	"=����
�)����#��0,)���	�+3.����������
+� ��#������
$)�0,)���	�+3.��������"3�+&��
�������0�)/"	���	�3����	.=�"	�
�@���)�� 2�3$)�0,)���	�+3.��������
"3������
�������0�)/"	���	����.�����3����	.=�"	�
�@*�) �	
��%��6B���̂���&3���.3����	�+3.���
�������
+�".	�
��_����	�0�  +���	�����	�+3.��������#��0,)0���	.=�"	�
�@����)����	��=�
*�)2�3 ���	��������������=�� �]^���%"#��)�� ������=�� ����+
�)���)�� �"3��+��/���+�����=�� �
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2�
$)���_���=�� ��+�	
�.3����=�� ���������2�
��=��&) ���	�+3.����%"#����	�������$3.�
������������)�� ���=�� ����2��3�����+�� 
 +���	����	.=�"	�
�@/"	���	����;	>k�=����	�+3.��������#��0,)�%"#� "3��+��/���+   
���� � (Opportunity cost of capital) ���	�����
��_����	������2�������=�����������0,)0�           
��	�����=����]^�������_������2����=���� ���3.�+ ��)�� +���	���	
��;*��+��������
"?
�		���	��{����	�;	>k�=�2�
+��"�2�3�,��=�+��2�
0�)0,)	)���
 12 /�����.*�        
��	�=��	?���#��0,)���	�"=�������
�=��	?������� $)��	
2+��=�+����/"	���	��&30�	&�	�"�
"�����
�)��0,)���	�+3.���2�)�	=� (Real discount rate) *�3".	0,)���	�+3.��������6�� ��� 2�3$)�
0,)	�"�����0���	��"3��6������	��=�2�
����=� ".	���+3.����).����	��������������6�� ��� 
(Nominal discount rate) ��#�������	
2+��=�+�����������^���%��_��	
2+��=�+����0,)	�"�����
�6�� ����,3���� (�	
+=�`=i ���=��;=	=, 2545)  
 
 2.3.4 *�����W]A�
�,�������B�)�
� 
         ��	.=�"	�
�@�)�� �2�
���	
/�,�@����=��		���̂��m ,3.�0�)+���	$���+=�0�0�    
��	���+		�	�����	�������&3������2�
��*�)���0�)��_�*���3�����	
+=�`=���2�
�	
+=�`=��  
��	�=��	?�.3��=��		�������".������
+�����;	>k;�+�	@�	#�*�3 ��;����.,��.����&3 3 ��?�@ "#� 
  (1) ���B/
,^��_ ��"_-�� (Net Present Value: NPV) ����$^� ��	.����
���	
/�,�@+ �`=���*�)�	��"3�����.��2�
���/"	���	�	#��=��		� ]^��� 3���#��.��.3�/"	���	
�	#��=��		�����������=��	?���&3���� �
0�)�����2��" )�"3��	#������*	�3�+3.�	.��	#�*�3   
��?�@��	���+=�0� "#� �� ���=/"	���	��#�� "3� NPV≥0 2�3$)� NPV ���/"	���	�=����	#���"3�����
�.3�;&��@ �%*�3".	�� ���=/"	���	 ��	�
	��*�)���*�)	���
*�3" )������	��� � 
  (2) 
�	�
��	
 !-�	/
B/
�C+�/
� (BenefitfCost Ratio: BCR) 2+��$^�
���	�+3.�	
�.3���&�"3��6�� �����������2������&�"3��6�� ������"3�0,)�3���������������� 
���/"	���	�	#��=��		� ��?�@��	���+=�0� "#� ".		��/"	���	�����"3�   BCR≥1 ����"#� �&�"3�
�6�� �����������2��������.3��&�"3��6�� �������)�� � 2�
*�3".	�� ���=/"	���	�����"3� BCR 
�����.3� 1 ��	�
�	?���������2��/"	���	*�3" )�"3���	��� � 
  (3) 
�	�
��	
 !-��
)�B�)�
�*�U
������� (Internal Rate of Return: 

IRR) "#� ���	�������0�)�����2��2�
"3�0,)�3�����*�)"=�����_�"3�0��6�� ���2�).��3���� ��?�@0�
��	���+=�0� "3� IRR ����.3� ���	�+3.�"=���/"	���	���	��*�)  
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2.4 )
������-�D���D���+
) 

 ���.=�����������.�)���&).=����
����+����_� 3 +3.� "#� ���.=�����������.�)��������=>�����=����
��	�������&�'��2�������� ���.=�����������.�)�������	.=�"	�
�@�;	>k;�+�	@+���	����	�����	
�&�'�� 2�
���.=��������.�����	����$)�����2�
�$)�������������*�0,)��_�.�+� �3��m /����
	���
���������3�*���� 
  

 2.4.1 )
������-�D���D���+
)�� ��(�?-�D�����j���
��	
��
 -��)�	
��
����
�	���CU�
!���	
��


����
�C_�C� 
 �����	�	.�+�����.=�����������.�)��������=>�����=��^����������� ��.3������.=���
�	
��������&3��+�".	 ]^��0��������&).=���*�)��������
���.=�����������.�)������������&�'���=��,#��
2�
�������&�'��, �,� /����_����.=�����������.�)��������=>����������&�'���=��,#�����*�)����	
�	.�.��" ?�������;2�
��	�����7�����/��
����0��$)� ����.� 3 ,=�� 2�
��_����.=���
�������&�'��, �,��������	�	.�.��" ?�������;2�
".�" ��	
+=�`=��������� ]^����_����.=���
�3���	
��; 1 ,=�� 2�
��_����.=�������	
��;*�� 1 ,=�� �����������������.=�����������.�)�����
�6������������3�	
�����������=>�����=���������� ]^����_����.=�������	
��;*�� ����.� 2 ,=�� 
/����	���
����������� 
 	�k=�� ��{���	=B (2542) ;^�>���	����������������&�'���=��,#��0�/	�������        
�����;����"	���2�3� ��#��;^�>���+�	��������3����������3��".�� ����	;^�>���.3�
���=>�������;�����=���������� *�)2�3 "�	@��������*]�@ *�/�	������*]�@ ]���A�	@*�
���*]�@2�
' 9��
��� ��#���	.�.���	=��?��+�	�������;��.3� ���]���� 3 �	
�����"3������.3�
���	k�� +3.��	=��?' 9��
�����"3�+&��.3����	k�� 3 ��3� 
 ���������=>�������;�����=��^�����������2�). �����.3���/��
����0��$)��)�������
�������&�'���=��,#�� *�)2�3���.=������`�,=� /+�+=��@ (2542) ;^�>�/��
����0��$)��)�������
�������&�'���=��,#�� ����.���&��%� ����	;^�>���.3� ���	=��?/��
�������2��	��� �
���. 
/"	������ ��=� �]�������2�
2"�������  ��"3� 2602.41, 1130, 559.91 , 245.27, 39.48 2�
 13.18 
�=��=�	���3��=/��	�� ��������� +3.��	=��?/��
�������)����� *�)2�3 �	��2�
+�	��& ]^��
".����)��)����/��
����0���� �,
�)���)����*�3��"3 �0�+&��.3�"3 ����������������        
+��"�)��������.=��������,	=��	@ 	�/, (2544) *�);^�>��	=��?/��
����0�����$)��)�������   
�&�'���=��,#��/	������� �����;����"		�,+��� *�)2�3 �
���. ��=� ���%� +���
+� ����	;^�>�
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��.3� 0�����,
�)������$)��)���������"3�".����)��)������� 0.08 , 0.07 , 0.21 2�
 0.26 mg/L ]^�� 
".����)��)����/��
����0�����,
�)���)����*�3��"3�0�+&��.3�"3����������������  
 �����������������.=����)�����=>����������&�'��, �,� *�)2�3���.=���������;���=i           
/"+&���=� (2544) ;^�>����=>�������;2�
��������������&�'��, �,�������%� �������.��
�"		�,+���/��0,)�����������+)��3��;&��@���� 0.8 ���	 +&� 2.6 ���	 2�
���3�	
���*��+��
�,#���������3�����  ����	;^�>���.3�" ?�������;���	
����������&30���?�@���	k�� 2�3��"3�
"�	@��������*]�@"3���)��+&� +3.�" ?�����������+����".����_��	�+&� ��#�������	=��?���
"��*	�@+&� +��"�)��������.=����3���	
��;��� Pin-Jing He et al. (2004) ;^�>����>?
���=>
�������; ���/	��������&�'��, �,������#�� Shanghai ��.3����=>�������; �����>?

���#������ �m ������������2�). *�3.3���#�� Yuqiao �	#� Pudong ����	;^�>��� soluble salts        
"��*	�@ 17.4-21.9% ��*����]=�2�
/��
0�����,
�&�'�� 0.98-1.5 ng TEQ/g   
 �����	�	.����+�	�&).=�����.3����=>�����=�����������&�'���=��,#��2�
�������&�'��
, �,� *�)2�3 "�	@��������*]�@ *�/�	������*]�@ ]���A�	@*����*]�@ 2�
' 9��
��� /����
"3�".��2���3��������=>�����=��^�� /������
��3���=��"�	@��������*]�@ ��=������	���������      
�&�'��, �,����	=��?�&�'��2�)���� ���*��)����.3� �������&�'���=��,#��  ]^� �"3 ����
"�	@��������*]�@�
��=���^������	=��?�&�'��2�)� ��������������/��
������������7��0� 
�$)��)��������������&�'�� ��������$)�����2�
�$)���� ]^��/��
����*�)2�3 /��
�������
2��	��� �
���. /"	������ ��=� �]�������2�
2"�������  �	��2�
+�	��& �
���. ��=� ���%� +���
+� 
��_��)� 
  ���=>�����=����������_��6B��+=��2.��)�����+��"�B��������� 2�3��.3���0�	
�������� 
���	
�.���	��������+�	��3�����	
+=�`=����3����3��+&3+=��2.��)�� +3.�0�B3".����)��)�
�����+�	�3��m ��"3���&30���?�@��������������� ���������+�	�����.�����"3���=���?�@
���	k�� ]^���
�3�0�)��=��6B��+ ����2�
+=��2.��)��*�) 
 ��3��*	�%��� ����.
�������; ��������	#���	�����7��/��
���� +���	$�<�����*�) 
0��6�� �����������	
��������������	
+=�`=�������^�� �����������"@�	
����&�'��2�

�,#�����=������+3.�0���	����+�	���3���� ����,3����.=������*��&��@ ���"����	�+� � (2539)   
;^�>���.2�	������=�`=���3���	��=�*�/�	������*]�@0��������&�'��, �,� /��".�" ���.2�	
�	=��?�&�'�� �	=��?����; �	=��?*��+���)������ ����	;^�>���.3� �	=��?*�/�	���
���*]�@��".�����2�	�	�����	=��?�&�'��2�
�	=��?����; ]^��+��"�)��������.=������
/�;�  ��	*,� (2540) *�);^�>���	���2���������&�'��, �,�2�
��.2�	��������3���	���*��)
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2�
��	�����3�����]���=> ����	;^�>���.3� � ?��&�=0��)�����*��)��_���.2�	��������3���	
���*��) ]^��� ?��&�=�^����&3����	=��?�&�'�� �	=��?����; �	=��?�,#�����=� 2�
��.3��	=��?
���=>�����=��^��2�	����	����� ?��&�=0��)�����*��) ��������̂�".	����	".�" �� ?��&�=2�

��"@�	
����&�'�� ���.=��� 2 ,=����� �&).=�����.3��)������	".�" ��6�������+��"�B*�)2�3 � ?��&�=0�
�)�����*��) ".�" ���.2�	�	=��?�&�'�� �	=��?����;2�
�	=��?*��+���)������0�)
����
+���#����	���*��)+��&	?@ ]^���
���6B�������=��3�+ ����2�
+=��2.��)��*�)  
 
 2.4.2 )
������-�D���D���+
)�� �
����B�
�*A�.�?@.
"	�A"�
*�� �
�����
�����
� 

 �����	�	.�+�����.=�����������.�)�������	.=�"	�
�@�;	>k;�+�	@+���	����	�����	   
�&�'�� ��.3������.=���0����>?
�����&3�)�� /����_����.=�������;	>k;�+�	@��	��� ������.���
��	"��2��.�+� 	�*]�"=�2�
�������&�'���=��	��@�).���.���	,�.��� 1 ,=�� ���.=����)�� �
���	
/�,�@����;	>k;�+�	@�����	�	=��	�����	�&�'�� 1 ,=�� �����������_����.=�����	
.=�"	�
�@���	���	�����%�"3�`		��������	�����	�&�'�� /����_����.=�������	
��;*�� 1 ,=�� 
2�
��_����.=����3���	
��; 1 ,=��  
 +3.����.=��������.���".����_�*�*�)����;	>k;�+�	@��	��� �0���	��=��������     
�&�'�����)���,3���� ��3��*	�%�����3����+��	.���*�)������_����.=�������	
��;*�� 2 ,=��          
+3.����.=����3���	
��;�����.����;	>k;�+�	@��	��� ��,#�����=��&�'�� (RDF) �� 3 ,=�� 
�����������_����.=������0,)��"�=" Benefit Transfer ��#���	
��=��&�"3� 2�3��.3����.=������0,)
��"�="�����3�.�������&3�)����� ��3����+��	.�*�)������� 2 ,=����3����� /����	���
���������3�*���� 
 ��	 ?�@ 2+�� 	=��=; (2541) ;^�>���	�����	�&�'���).�.=`��� ��.���������0,)0��32�

".����_�*�*�)�,=��;	>k;�+�	@��	��� � /��"��2��.�+� 	�*]�"=�2�
�&�'���=��	��@�������).�
��.���	,�.��� ����	;^�>��	=��?�&�'�� 2��*�)��_�.�+� 	�*]�"=� � ������ 2�
��=�
�	
2+*AA<� /��	��*�)���.�+� 	�*]�"=� 18 �)������3��l � ������ 4 �)������3��l2�

�	
2+*AA<� 25 �)������3��l ��	��� ����&�"3��6�� ���+ �`=�	
��? 84 �)����� ������	�"=��� 
12% ���	������2�����/"	���	�	
��? 27%   
 �����	�	.����+�	�&).=�����.3� ��	�����	2��"��2���&�'�� "#�2��.�+� 	�*]�"=�      
���� ������ 2�
��=��	
2+*AA<��
�3�0�)��=�".����_�*�*�)�,=��;	>k;�+�	@��	��� �2�
��_�
.=`���	���+3����	
���3�+=��2.��)���)����� ��#��������_�	
����� 2�
��"��2���	
����&�'��
��#�����.�+� �3��m �� ��.���������0,)0��3 ��_���	����	0,)�������2�
����	�������	�����	
����).�  
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 �=?�=��@ ;	�+��� (2548) �	
��=��&�"3��)�� �2�
���	
/�,�@���+��"�2�
.=�"	�
�@
�)�� ����	
/�,�@����;	>k;�+�	@�����	�	=��	�����	�&�'�������;����"	+���� ��
��	;^�>���.3� +3.��&�"3��6�� ���+ �`= ? 	
������	�"=���	)���
 12 ��3���� 28,940,535.03 ��� 
2�
���	������2���3�"3�0,)�3�� ��3���� 2.09 ��	.=�"	�
�@".���3��*�. ��.3�/"	���	��".��
" )�"3�0��,=��;	>k;�+�	@0�� ��	?� ���.)��	?����*�3"=����	
��.���� �����;����"	
+�����)����	0�)��=�".��" )�"3�0��,=��;	>k;�+�	@".		?	�"@0�)�	
,�,�0������;���     
"��2���&�'�����2��3������=�2�
�=��	?���� �+	)��/	�"��2���&�'����#�����*���� ������
�������	&�2����	�����=���	�	=��	�����	�&�'�� ��_�/"	���	����&)�3��&�'����_��&)�3�� (Polluter 
pay) �	#���#���<����� (Prevention pay) 
 ���.=��������.�����	.=�"	�
�@���	���	�����%�"3�`		��������	�����	�&�'�� *�)2�3
���.=������� 	�	���@ .		`�
�=��=� � (2543) ;^�>����	���	�����%�"3�`		��������	�����	       
�&�'�������	��	���������)�� �0���	�����	�&�'��/����	'6����2��$&�����+ ���=���2�

��	������2�������������;����"	�,���0��3 ��.3���	�����%�"3�`		��������%����&�'�����
�)���	#�� ���	� 20 ����3���#�� ���/	�2	� 	)��")�2�
���� ���	� 1,000 ���/�&���;�@���	 2�3
$)�0�)+��"�)�����������	�&)�3����=>��_��&)�3�� (PPP) ".	��%����	� 1,311.52 ����3���� 
.=`���	0,)������".	��%�0����	� 2,536.66 ����3���� +3.��)�� �'6���� 80,335,419.20 ��� 2�

�)�� �2�������� �	
��? 189,863,920 ��� +��"�)��������.=�������3���	
��;��� Elbert 
and Herman (2004) *�)�	
��=��&�"3�.=`���	�������&�'����#����	��������	
�.3����	'6����2�

��	�������&�'��/��0,)��������#����=��������0��	
��;���`�2���@ /���=��	?��)�� ����
+��"����	.��)�� ����+=��2.��)����)�*��).� ����	;^�>���.3� ��#��"=��)�� ������	��=� �)�� �
��	������2��'6������3���� 36 �&/	�3���� +3.�������2�������� ��3���� 79 �&/	�3���� 2�3��#��"=�
�)�� ����+��"� /��0,)	�"����.=`��)�� �����3����2�� ��#��	.����	
��.�����3�+��"�����
����)���.�2�
�)������)�*���.3� ��	������2��'6�������)�� � ��3���� 22.14 �&/	�3���� +3.�
������2�������� ��3���� 17.64 �&/	�3����  
 �����	�	.����+�	 �&).=�����.3� ��;���+3.�0�B3�����	���	��%�"3�`		������          
��	�����	�&�'�����	������.3�"3�0,)�3���	=� *�3+��"�)�����������	�&)�3����=>��_��&)�3������)��
"	��"� �������	��%���2�
��	������ /�������%�����	=��?��	�3��&�'�� ��;���".	
�������2�����	�����%�"3�`		�����������=���^����#��0�)��=�".��+�� ����	���3�� 2�
��	������ 
2���������
���)�� ����+&������#������������	'6����2��$&�����+ ���=��� 
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 ������������.=��������.���".����_�*�*�)����;	>k;�+�	@0���	� �� ���	2�		&�
�,#�����=���2�� /�������� ��=;��� (2540) *�);^�>�/"	���	/	�����������&�'���).�	
��
���������� 2,000 ����3�.����#����=��	
2+*AA<� 0�����#������	 ��������"	 ����	;^�>�
��.3� �&�"3��6�� ���+ �`=���/"	���	 ��3���� -2,728,483,318 ��� "3� B/C Ratio ��3���� 0.39     
�̂����.3���_�/"	���	���*�3" )�"3�����)�� ���=�� �����+��*� +3.���̂����#������" ?+����=����&�'��
���*�3����
+���������3���	���*��)����
���0�)*�)�������".��	)�������������3���	��=�
�	
2+*AA<�0�	
����	=��?������ 2�3$)����0����	
/�,�@�����=��^��0�+��"�����
,3.����0�)
" ?���+=��2.��)�����^�� �%��_�/"	���	����3��
��=��	
/�,�@���+��"�*�)  
 2�
���.=������	�,�� /�`=	�,�@ (2546) *�);^�>�".����_�*�*�)����;	>k;�+�	@���   
��	��� �/	��������&�'��, �,��).���	2�		&���_��,#�����=���2�� /����=��;>�����#����=��
�������".��	)�� ����	 ��������"	 ��������	��=� 150 ���RDF�3�.�� ��=� RDF �����             
"3�".��	)�� 4,000 kcal/kg. �������&�'��*�)+&�+ � 451 ����3�.�� �&�"3��6�� ���+ �`= 109.62     
�)����� "3� IRR ��3���� 24% 	
�
"#�� � 4 �l /����"3�0,)�3��0���	��� �������� 109.25 �)��
��� 0,)�;>��� 35 ����3�.�� ����	.=�"	�
�@���&�"3��6�� ���+ �`=��"3��.�� �/"	���	  
 +��"�)��������.=����3���	
��;��� Antonio and Pacifico (2002)  *�)�����	�����
��	��������+����	��=� RDF ���2���3����� �).�"���=.���	@/�������*�)��{���).���	���    
+�� ��.� �).���	0,) Recovery factor transform function (RFTF) 2�
;^�>�����;	>k;�+�	@
�����	��=� RDF  ���0�)"3�".��	)��+&� (>4000 kcal/kg LHV) ��.3� NPV �
��"3���_��.� 
+���	��/	���� RDF �������������	��=� 25 ����3�,��./�� ��#��	�"���� RDF �	
��? 0.013 
Euro/kg 2�
/	������������	��=� 200 ����3�,��./�� �	
��? 0.005 Euro/kg �����	;^�>�  
��.3���	��=� RDF ��#�����*�3����.
�̂��&���	��� � �?
�����=� RDF ��#����_��,#�����=�0�
/	������#����=��	
2+*AA<� �
���0�) NPV ��_��.� +��"�)��������.=������ Abu-Hijleha      
et al. (2004) ;^�>�".����_�*�*�)0���	+	)��/	��������&�'��2��������0��	
��;��	@2�� ��
��	.=�"	�
�@".����_�*�*�)����;	>k;�+�	@ /�����)�� ����/	������� �	
��? 90 �)��USD 
��_��)�� �����=�2�
"3��3�+	)�� �	
��? 1.5 �)��USD �)�� �"3����	 �	��>� �	
��? 5% ���
�)�� �������� +3.�	��*�)�������	����������*AA<� 	�"���3.��
 0.048 USD/kWh 2�
���
��	���.�+� 	�*]�"=� �	
��? 44 �)��USD ����������$)����+���	$�����#�����.�+� �3�+	)�� ��
	
�
�.��"#�� � 30 �l ����	;^�>���.3�/"	���	��".��" )�"3�����
��� � ]^��+��"�)�����
���.=������ Maria and Pavesi (2006) ;^�>�".����_�*�*�)����;	>k;�+�	@0���	��=� RDF 
����&�'��, �,���_���������&�'��*AA<� �����#�� Umbria �	
��;�=���� ����	;^�>� �l".;.
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2006 �	=��?�&�'�� 300,000 ��� +���	$��=� RDF 70,000-100,000 ����3��l ".	��/	����������
+���	$��=�*AA<�*�) 50-70 GW. �3��l ]^��$)�	�"����*AA<� 0.04-0.06 €/kWh. "3� NPV ��_��� 
2�3$)�	�"���_� 0.08 €/kWh. "3� NPV ��_��.� �=��	?�/"	���	 15 �l  
 ������.=������� 5 ,=�� �&).=�����.3� ��	�������&�'��2�������� ���)�� �0���	�3�+	)��2�

���	 �	��>�+&���� 2�3��������/"	���	��"3� NPV ��_��.� +3.���̂���^����&3���" ?+����=�&�'�����
�)��0�)"3�".��	)��+&���#����	��=�*AA<�*�)��� �	
������	�"����*AA<��)����&30�	
������
����
+� �̂��
���0�)/"	���	��".��" )�"3�0���	��� � 2�
��	��=� RDF ��_��,#�����=���2��
�
��".��" )�"3�����;	>k;�+�	@��	��� �����.3���=� RDF ��#����� ��������������	��*�)���
��	����$)�*����.�+� 0,)����3���#��� ���+���	$��=��	��*�)*�)����).� 2�
�&).=�����.3� ��	��=� RDF 
0����.=�������	
��;*������	��=��;>�����#����=���������".��	)�� 2���3��������.=������
�3���	
��;���*�3�)����=��;>�����#����=��"3�".��	)�� +3.���̂���^����&3�����"@�	
����&�'������

0�)"3�".��	)���3����� ]^����"@�	
����&�'������	
��;*�� �&�'����l�������	@�]%��@+&��.3�
�3���	
��; 2�3�����>?
+��"�)��������.=����3���	
��;�����_���	��=� RDF ��#�������_�
�,#�����=�����.3���	��=� RDF ��#����� 
 ���.=������0,)��"�=" Benefit transfer approach /��+$������#����	��{���	
��;*�� 
(2540) *�);^�>�".������
+�2�
".����_�*�*�)���/"	���	2�3��+#���)���#���	
��=��&�"3�   
�,=��;	>k�=����+����9������	+&B�+���#����� ��#����� 45.6 �	.��. 0,).=`���	/���	
/�,�@��#��
�	
��=��&�"3� /���������	�	
��=��&�"3�� ����2�3�,��=���0�B3 ��#���l 2538 ����_���?�@0�
��	�	���&�"3� �������2�
����	;^�>� "#� (1) ��	�	���#�����;^�>� ��#�������9����$&������3.����
� �������0�B3 "	��"� ��#����� 2,176 �	.��. "=���_��&�"3� 183 ���/"�/�l $)�/"	���	2�3��+#�
��)��3��
���&�"3��	
��? 3.84 ���/"�/�l [(45.6*183)/2,176] (2) �	�����	���=��A<� �l 2539   
(	)���
 4.7) �l 2540 (	)���
 8.5) ���0�)�&�"3� ��=����_� 4.36 ���/"�/�l (3) �	���&�"3��������
�	
,��	 ��������	
,��	 �	
��? 11,264,000 "� ���0�)*�)�&�"3�+����9��	=�.?/"	���	
2�3��+#���)� ����
�l 2540 �	
��? 49.07 �)����� 
 Rowe et al (1993) ;^�>����	��+�����3�".��������� �+����  /��0,)��"�=" Benefit 
Transfer Approach �).���	�	��"3��)��&���=���?�@�.�	.��	
,�,��= (GDP) ����	;^�>�  
��.3� ���	���	�+����������+�	�k ��3���� $ 3,300,000 *�)��".��+�����`@	
�.3��"3��)��2�

".���+���� (US Wage-risk studies) 2�).���"3����	
� ��@0�)+��"�)������	
��;A��=����+@ 
�������2�
����	;^�>� "#� (1) 2�����=� $3,300,000 0�)��_����	@�]%��@�3���=���?�@�	
,�,��=
�3���. ��"3���3���� $22,000 (��3���� 15,000 ���	@�]%��@�����=���?�@�	
,�,��=�3���.0�
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A��=����+@) (2) �	��"3����	@�]%��@�3� per capita GDP 0��	
��;A��=����+@ ($ 830) ����������	���	
�+�������0�A��=����+@ ��3���� $ 124,500 $)�����)����	�	��"3�0�)��_�"3���=��)��$=�� "���.?/��
0,)���	�2��������������	 
 ������.=������0,)��"�=" Benefit Transfer Approach ���� 2 ,=�� �&).=�����.3� �)��	
� ����
���	
��0��,=��	=��? �����������	
,��	 0���	/���&�"3����+$������#�����;^�>�*.)2�).
�������	�	��"3� �
�)���	��"3�0�)����
+�����#��������������;^�>� �,3� �����#����� ����.�
�	
,��	 ��	�	���������=��A<� ��	�	��"3��)��&���=���?�@�.�	.��	
,�,��= ]^���
���0�)
�&�"3����*�)��".��2�3�����.3���	���"3����"���.?*.)0�+$������#����0,)���+$��������������;^�>�
/���	� 2�3���)�"���̂�.3�.=`���	/���	
/�,�@������)�������0�".��2���3�����+����3�� m���
�#������)���=�����#�����;^�>� ����
+3����3�".��"����"�#���0���	�	
��=��&�"3�*�) 
 
 2.4.3 )
������-�D���D���+
)�� �
���
�X+
*���!���X+
� 
�
��	
��
#,�C+�,k���"�_	/
)0 

 �����	�	.����+�	���.=�����������.�)�������	����$)�����2�
�$)�������������*�0,)
��_�.�+� �3��m ��.3������.=���0����>?
����)�� ��3��*	�%��� ��3����+��	.���*�)���������.=������
�	
��;*�� 3 ,=�� 2�
��_����.=����3���	
��; 4 ,=�� /����	���
����������� 
 ��?��@  �=��+/	 (2545) ;^�>���	����$)��������������&�'��, �,���0,)��2��
�&�]�����@���+3.� ��_���	;^�>�" ?+����=��������� ��"@�	
�������"��2�
���2	3����$)�
�������������&�'��, �,� ��#�������0,)��2���&�]�����@0�]�����@��	@�)�	@ +��"�)�����
���.=������+=����� �.��?� (2547) *�);^�>�".����_�*�*�)0���	����$)��������������&�'��
, �,� ����.���&��%��������_�"���	����%��*�3	���������� /��0,)�$)����2������&�]�����@0�
+3.��+� 20% /���������� ��.3�".��+���	$0���		��2	��������)���=k���� 2�3��&30�
���	k����=���?�@� �+���		� �����	���	�&���������^�� 2�
����+�������)���=k���	=��?  
�
���.����  
 ������������.=������,�	
.=��@ 	������`@ (2548) ;^�>���	������A�+A�	�+0������+��  
/��0,)�$)��������������&��%� ����	;^�>���.3��$)����������������	=��?2"��]������*]�@+&� 
(54.26 %�����������2�)�) ]^���
�����3���	��������/`A�+�A� ".��+���	$0���	�&�]����"3�
��3���� 158.63 �=��=�	���3���/`A�+�A��3��	������$)����  
 +3.����.=����3���	
��; Collivignarelli and Sorlini (2002) ;^�>�".����_�*�*�)0���	
0,)�$)�����+���=����_�.�+� �+�`		�,��=0����"���	�� /����	��2�
�)���$)��3�����*����
�+$��	�).� Cement-line process 2�
�����_�.�+� �+�	�*]�"=�0���	��=�"���	�� 2�
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Rem et al (2004) ;^�>���	����$)���������������������_�.�+� �3�+	)��+���	�����$�� ]^���$)�����
�)��*�3�����7��/��
���� ��#������$)����*����.�+� �3�+	)������3�0�)��=��6B��+=��2.��)��
����� +��"�)��������.=������ Holger and Annika (2006) ���.=�"	�
�@���	
��+=��2.��)�� 
�����	����$)����������.�+� �&$�� .=�"	�
�@"3� pH , L/S (Liquid-to-solid ratio) 2�
���.=���   
��� Pai-Haung Shih et al (2003) ;^�>�".����_�*�*�)0���	����$)������	���*��)�&�'��, �,�
��_�+3.��+�]�����@ /��0,)���	k��".��2�%�2	����]�����@����	
��;*�)�.�� ���0,)�$)���_�
+3.��+��)���.3� 5 ���	@�]%��@ 2�
����.3� 10 ���	@�]%��@ /��0,)2"����������*]�@ 183 �	�� 
2�
0,)�$)� 15 ���	@�]%��@ ����	��=���.3�"3�".��2�%�2	���=���^�� ��&30���?�@���	k��".��
2�%�2	����������*.) ��������$)�����������&�'��, �,���".������
+�0���	�������_�+3.��+�
0���	��=�]�����@ 
 �����	�	.�+�����+�	�&).=�����.3� +���	$����$)�����2�
�$)����������#������	���
*��) *������_�.�+� �3��m *�)2�3 .�+� 2���&�]�����@ +�	�����������+�� �	#�.�+� �3�+	)�� .�+� ���
$�� ��_��)� ]^���
�3�0�)��=����	
/�,�@�3���#���2�
,3.����	=��?�$)����� 2 �	
�����*�) 2�

�����_���	,3.����;>.�+� ��� ���#�0,)��*�) /����	���������0,)0�)��=��	
/�,�@������+ �           
2�3��������������� 0���	����$)�����2�
�$)������0,)�	
/�,�@���� �
�)�����	
�.���	��=�����)��
*�3����	�����7��������=>���/��
�����3��m ]^������
�3�0�)��=����+���3�+=��2.��)��*�) 
 
   

 


